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Indefinite Integrals Ex 19.27 Q1

Let 7 = [&® cos bxdy
Intergrating by parts,
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Let logwx = ¢
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Let 7 = [e™ cos[3x + 4)akx

Integrating by parts
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Let 7 =[e® sinx cosxdy
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Let ] = ]'e“ sin x dv 1)

Integrating by parts, we obtain
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Again integrating by parts, we obtain

2

2w = ix v
2 2 2 2

Ty . I
gy sinxy 1le m”+-j¢“*si’nxdr
2 2 2
Il 2x
oGSy e cus.x_lf [From (1))
2 4 4
e ix
g £ SINX e msx_l!
2 4 4
1 e -sina’ e’ cosx
= f+—-1= -
4 2 4
5. &siny eV ceosx
=>—[= -
2 4
Ix 2x
:”;i e siny e cosy C
5 2 4
—=f [2sinx—cosx]+C

Indefinite Integrals Ex 19.27 Q8



Let [ =[e” sin® xdx
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Let 7 = ]%Sin[lngx]dx
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Let 7 = [e® cos” xdx
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Let 7 =[e ™ sinxdy
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Let [ = sze"! cos xS
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